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Using Excel to improve the quality of hardware

experiments of signal processing’

HU Jing’an'", XU Fayan®, FANG Jing'

(1. School of Physics and Electronics of Shandong Normal University, Jinan Shandong 250014;
2. Shandong Provincial Institute of Education Sciences, Jinan Shandong 250002)

Abstract: Simulation experiment is the hot issues in the experiment course of electronic specialty, but
hardware experiment is still indispensable, and how to improve the quality of hardware experiment is
still of great significance. This paper introduces some application research of Excel in the hardware
experiment in the experiment teaching, and points out that the content of hardware experiment can be
expanded and the quality of hardware experiment teaching can be improved by using Excel to process
the data of hardware experiment. This paper also makes up the insufficiencies of current research on the
signal processing hardware experiment.
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